[bookmark: OLE_LINK5][bookmark: OLE_LINK6]3GPP TSG-RAN WG4 Meeting #94-e	R4-2000052
[bookmark: _GoBack]Online, 24 - 28 February, 2020

Source:	ZTE 
Title:	MT timing requirements for IAB
Agenda item:	8.5.5.2
Document for:	Discussion
1	Introduction
In RAN4 93 meeting, the issue of IAB MT timing requirement has been discussed [1]. Some companies proposed to reuse Rel-15 UE requirements while it was pointed out by some companies [2] that the SMTC configured for IAB MT can be larger than 160 ms. In this paper, we tend to discuss this issue and provide our view.
2 IAB MT timing
The following agreements were made during RAN1 96 meeting [3]:
	Agreements:
· Existing NR mechanisms are used by the network to signal to IAB MTs the SSB periodicity for cell re-selection.
· The IAB-node MT initial access assumption that half frames with SS/PBCH blocks occur with a periodicity of 16 frames does not have an impact on cell re-selection.

Agreement:
The IAB-node MT initial access assumption that half frames with SS/PBCH blocks occur with a periodicity of 16 frames does not have an impact on backhaul link rerouting to a new parent node in response to a failure in the link to the current parent node. 



According to RAN1 agreement, the SSB periodicity for IAB MT is 160 ms, which is the same as for Rel-15 UE. The timing requirement Te basically relies on reception of SSBs with a certain periodicity. Thus, if the IAB MT can receive SSB at least in every 160 ms, the timing requirement, namely Te, shall remain the same as for a Rel-15 UE.
The Te requirement for IAB MT reuses Te requirement for Rel-15.
Similar to discussions happened in NR-U, there were some options for the IAB MT when it can’t meet the requirement of Te. Two of the options were
1) To allow IAB MT to transmit in uplink with a relaxed Te requirement
2) Not allow IAB MT to transmit in uplink 
Similar to the previous discussions, we believe the Te requirement shouldn’t be relaxed, as it’s already the bottom line for reliable transmission.
IAB MT shall only transmit in uplink if it can meet Te requirement.
3	Conclusion
Proposal 1: The Te requirement for IAB MT reuses Te requirement for Rel-15.
Proposal 2: IAB MT shall only transmit in uplink if it can meet Te requirement.
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